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Answer all the questions from each UNIT (5X14=70M)

Q.No. | Questions

| Marks| CO | KL

UNIT-I
(m—x)*(m—x)*
L] Find the Fourier Series of f(x) = 2 2 in 0<x<2m. [7M] I I
b) | Find the Fourier Series of fix)=e e in-1<x<1. [7M] 1 1
OR
2. | ) | Find the Fourier Series of f(x) = |x|lx] in -n<x<m and hence deduce that [7TM] 1 1
i_l_i_l_i_i_ _____ —1T21+i+i+ _____ _1T_2
12 7 32 7 52 812 37 352 I
b) | Find the half range cosine series of f(x) = x in 0<x<l. [TM] 1 1
UNIT-II
—x _ 2 poAi42 3
3 a) Using Fourier Integral, show that e cosx=g j 0 A%+4 cosAx dA [7M] 2
b) | e *cosx = 2 f_m 'qzi cos Ax dAform of f(x), then the complex Fourier [7TM] 2 3
.1
ransform Off(x) cosax is 5 [Flp+a)+F(p—a)l
f(x)cosax is é[F(p +a)+F(p—a)R
4. | a) :{linﬂixiﬁf(x):{linﬂixiﬂ [TM] | 2 5
Express Oinx>m Oinx>m  asaFourier
oo 1—Cos(mad) ..
Sine Inteoral and hence evaluate JU A Sin(GxA)dA.
b) oo 1-Cos(md) . Cosine Transforms of x. [7TM] 2 1
fﬂ — Sin(xA)dA.
UNIT-III
5. | a) 2= EFE e ZEE [M] | 3 | 5
Prove that zln’] (z—llzZ[n ] (z-1)3,
b) | Find the Z transform of cosh n6. [7TM] 3 1
OR
6. | a) . 7 [TM] 3 3
Using Convolution theorem , find Z
Z(z—2)(z—3)
b) | Solve the difference equation Un+2 T 4nys + 31, = 3"withug=0,uy =1 | [7TM] | 3 3
Upso + 4, + 3u, = 3" withug = 0,uy = 1y,
7. | a U = x2tan-1 (z) — y2tan~! (z) [M] | 4 | 3
Verify Euler’s theorem for x ¥
b) | u = x%tan™? (X) — y?tan~? (E) o(x,y) o(r,0) [IM] | 4 | 5
r o, Y el —=1.
it x=e.Sec;y=e".Tand then prove that 0(7,6) 3(x,)
OR
8. | a) | Expand e in the neighbourhood of (1, 1). | [7TM] | 4 | 2
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b) | Find the volume of the greatest rectangular parallelepiped that can be [7TM]
ST LT I
inscribed in the ellipsoid a? tetelgtetas 1.
UNIT-V
9. | a) | Form the Partial Differential Equation by eliminating a and b from [TM]
(.2 2
z=(x"+a)(y"+b).
b) | Solve the PDE ¥°P* +¥?q® = 1x°p® + y?q* = 1, [7M]
OR
10. | a) | Solve the partial differential equation px —qy = y° —x’. [TM]
b) | Solve the partial differential equation [7TM]

(D—-D'—1)(D—D'—2)z =e*77.

(D—D'—1)(D—D'—2)z =e?*77,
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